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STATISTICS .
(General)

Full Marks : 60

Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7
wete AR Romiqad Tes fat .

(@) The census data published for
genderwise population of India will be
known as ———— classification.

(Fill in the blank)
= AT T AT T ol
fo1sl- 3l SRR S
N QT = (ARSI st z=2)
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(b) Name a measure of location which is

(c)

(@)

‘not a measure of central tendency.

<t SRIET T A B R ey oo
CoY = |

What is the relation among mean
median and mode for Symmetrica]
distribution ?

mwﬁsaﬁamm,aww%m
TEO F 2

Newton’s forward formula  is used
when the

value lies in the
bgginning of the series.

(Fill in the bign )

et ! R ARl TR S
FIEA AT | (M 5T 237 20y
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Under what assumption would you
use Simpson’s %th rule of

integration ?

R SRR e TRAUTIF SrFrR Bwioa
%m ot IRA 2

The consumer price index number
of money.
( Fill in the blank)

helps to evaluate

e T IR TR ——— foflel s
i — (& 31 {3 =)

The geometric mean of four values

2, 2, 0 and 4 is 2. (State True/ False)

2, 2, 0 OI% 4 I QAT MY T 2,
(7T @7y fa)
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2. Answer the following : Ox4=8 3. Answer any three questions : 5x3=15
u | fi caet fofst 2 Tes forl 8
1 wore AR Tew ot ¢
| (a) Define a statistical table. State the
. ential qualities of a good table. 5
(@) Explain the difference between direct > 1 ®
personal investigation and indirect AR ARFE @ ol 99 o
oral investigation. ARTE SPTER AR ¢ |
ATF JENS pram o AR/® RS (b) The following costs were incurred to
SFPTRNT e SAIdFR R B construct a house : 5
&5t X Ffiet RIS oS ol AHIR (oA
(b) Discuss any method of collection of | e g o
secondary data, 1 Head / et Cost / 435
G, ' (in thousand)
o T R a5 e o (qETe)
Cement/ for® S0
(c) Prove that Brick/ 2 60
25
o T g Iron/ (& .
Labour and Misc 45
3 Tmﬁ S S
. A uaz ua+3h - 3ua+2h +3ua+h _ua

Represent the data with a

‘the limij itable di )
(d) State the limitations of index number suitable diagram

TR ANREOPTE S 21| SRR BT Bacs afefig i)
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(i) Curtosis
(c) Describe different measures of

o ez

location. Mention the merits and

limitations of one of these measures.
5

wRiEST Rfen Woe Sme = 7 e
B! Mo & W% FHeER B =14 |

4. Answer any three questions : 10x3=30
3 e oAb e Tes fort

(@) (i) Calculate the quartile deviation
(d) Define mean deviation and standard

from the following data : S
deviation. Prove that for any discrete
distribution, standard deviation is not woTe SUPTA “Idl RIS oo Refy
less than mean deviation from mean. =3
2+3=5
Class Interval : ~ 0-15 15-30 30-45 45-60 60-7575-90 90- 105
Te Roem e e Rveme sice o o) Re
I F @, Vi Rifven Rorerm 1w Prequency : § 2% 30 4 N 17 4
[ AT '
AR Tﬁ’“m S TRl
(i) Define moments. Sl’;ow that
' M+ 245" in usual
. _ y=ﬂ~3ﬂ2ﬂ1+ Hl
(e) Wnte_ short notes on : 2+3=5 syamels. S
o3 (Bt fop ¢ |

e TR@ il | 56T AT LS

+ ' ] '3
i Bar diagram and Histogram A pa=py— 3ty py + 247" |
%) orys , |

7o foa <% o8 =Y
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(p) () State and prove Lagrange’s @ @

If u, —a+ bx+cx?, then show
interpolation formula. When 1s

that
this formula used ? 4+1=5
1
e TSR ! Bl w e qudx=2uo+l—12—[u.z ~ 2ug+u,]
| % TR0 e IR WA ¢ he

5
(i) Find f(2) from the following data :

My, = a+bx+cx’ W,(9® YA
oo O o’ f(2) Rfa s 5

x : 1 2 3 4 5

1
j‘uxdx=2u0+-113 [u, - 2uy+u,]
flx) : 7 ? 13 21 37 -1

(¢ () Discuss about various
problems faced for construction

. ) [_dx
of index numbers. 5 (i) Evaluate -[1 2 by using
0
E@s atoa R FHEIFRR S trapezoidal rule and Simpson’s
2th rule. 2+3=5
(i) Write short notes on time
reversal test and factor reversal :
test. Name the formula which BaeRe Aaw 3
% Bpae 2R
satisfies both the tests. 4+1=5 . 8
dx
o e SR W TR BedRe foz 3 W fefa ==
ST @sigs 53 R | et ° |
S P 1 FA0OR A o)
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(e) (i)

With the following data, calculate
Fisher’s index number and hence

prove that it is an ideal measure
of index number : 6

TR YR SR RebieT s ey 3w
IR FAR S R oAl ] ¢

Commodities

Rl

Year-2000
T -2000

Year-2013
T -2013

Price Quantity
LU0
(in?) (in Kg)

Price Quantity
T oifee

(in?) (in Kg)

A 2 8 4 16
B S 10 6 5
c 4 14 5 10
D 2 19 2 13
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What is family budget enquiry ?
Discuss the construction of cost
of living index number by the

family budget method. 4

iAo TN B 2 SRR T

FApFICT Ao SR A5t TGl I
|
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